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2. (a)

(b)

3. (3

Rig HRT & arafes dog & 92 aRag 2
& TS R Rew suagey 9 Ffs & w5y |
IRAAF =T B |

Prove that interior of a set is an open set. 2

fog HINY & Tz o1 Fa¥T YT ag=ay
=

A set is closed iff it contains all its limit points.
1
e 2

T AYTET g BT & A ged swat e
g fagy Bk 2

If a set 4 < R satisfies the Heine Borel property,
then any closed subset of 4 also satisfies the Heine
Borel property. 2

Al ey 4 < R & R fA9Wd 1 9RT AT
T A A4 D P IMIT STETET W BN ARA
freIyaT B qRT HRT T |
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Prove that :
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(¢) State Gauss test.
T GRIEOT Sy |

(f) Define absolute convergence and cond
o o]

convergence of MQ: .
n=1
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SECTION - 1lI SECTION -1V
grs -~ gurg —- IV
! 5. (a) State and Prove D'Alembert's ratio test for the
, o logZ  log’® log*
convergence of an infinite series. mw 7. (a) Show that the series R
| . 2 3 4
TR IRIEEEIER ¥ 9 el @ converges.
U BT gAY qT g #RT |
(b) Discuss the convergence of the series : 2 _omm 1 omw Homg
1 2 32 5 (4, carey e s 2 T2 T
—F= XA = x| = x4 2 3 4
2 3 .4 m SARIRT TR |
A \2 3
I 2 3 2 (4) 3
gl M+W TAMW x +Tuu X K (b) Test the convergence of the series :
IFRROT T T e AT | M@ 343y,
6. (a) Test the convergence of the series - logn
| |H|+m.%x+_m.%.%%+ o1
| 3 o 2 22 2 w logn
S !~|+H 3 x+~ D uF g s n=3
RS I 5% 35 mmx + o D #ifTe |
AR BT TG HIRTT |
(b) Using Cauchy's condensation test, discuss the 8. (a) Show that Cauchy product of the conve
o8} n
. D oy g
convergence of the series M _om: 5 series Mﬂ with itself is divergent.
n=2 "
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